
RED 

1.​       ​A farmer has 624 eggs. He stores them in boxes of 12. How many boxes will he fill? ​52 

2.​       ​A school buys 1122 pencils in total. The school has 11 classes. How many pencils will 
each class receive? ​102 

3.​       ​3. A pupil has collected 780 stamps. He has 15 pages in his stamp book. How many 
stamps will be on each page? ​52 

4.​       ​ A man ran 22 miles in 308 minutes. On average, how long does it take him to run a 
mile?​ 14 

5.​       ​ A toy factory produces 4536 toys a day. There are 21 machines making the toys. How 
many toys does each machine produce? ​216 

6.​       ​There are 420 pupils in 12 classes in Smithdown Primary School. On average, how many 
pupils are in each class. ​35 

  

AMBER 

1.​       ​ A box of sweets contains 357 sweets in a total of 21 packets. How many sweets are in 
each packet? ​17 

2.​       ​ A local football club’s full attendance equals 192 people. If there are 12 rows of seats in 
the stadium, how many people sat in each row? ​16 

3.​       ​A local charity has raised £1425. They want to share this money between 15 good 
causes. How much money will each of the good causes receive? ​95 

4.​       ​A cinema, when full, holds 968 people. If 22 people can sit in each row, how many rows 
are there? ​44 

5.​       ​A farmer has 2544 eggs. He needs to store them in boxes of 24. How many boxes will 
he fill? ​106 

6.​       ​A school buys 3782 pencils for its pupils. There are 31 classes. How many pencils will 
each class receive? ​122 

 

 

 

 



 

GREEN 

1.​       ​A farmer has 5616 eggs. He needs to store them in boxes which can hold 36 eggs. How 
many boxes will he fill?​156 

2.​       ​ A school buys 8960 pencils for its pupils over 35 days. How many pencils did they buy 
each day? ​256 

3.​       ​ A greengrocer has £85.68 after selling all of his coconuts. Each coconut costs 84p. 
How many coconuts did he sell? ​102 

4.​       ​ A man drove 9240 miles in 7 days. On average how many miles was he covering in an 
hour? ​55 

5.​       ​A local charity has raised £8866 during the month of May. This money is going to be 
shared out amongst 11 good causes. How much will each of the good causes receive 
per day? ​£26 

6.​       ​A school has paid £9996 for 28 children to visit France for the week. How much does it 
cost per day per child to go on this trip? ​£51 

 


